Construction division. Advice for giving credit to contractors/suppliers.

regist	o. – site bills ter pany Name:	13	56		ate - site b egister	ills	16/2	1202s
	e of Contractor	MR	MLL		ite:		6. N	
	re of work	1	ends		imay	Guj		
	done	Tile	lau	ing	100/b	low) as	(01
Si.		From D	ate /	//	The second name and other Designation of the last of t	o Date	101	F-Block
No.	Villa/Flat/block no	Qty		Rate	Units	Amo		Contractor
2.	Towards F-5	Sleep				+		bill no
3.	blat 40 + 50	4				1		+
4.	Tile louging 1	and						
5.	done ()						-	
6.	SBOA (67)	1.) 0	20	16	1-3ft	14	5.76	
7.	1.		45	16	1-3ft	1	920	
8.	200 St ges Toi.	The second named in contrast of the second	200	18	1-316	1	200	
9.	8038t per To	let	80	15	1- St	12	200	
10.		also relie			`			
11.	T	otal:				-		ļ
Bill	required	DYES	NO	G	ST bill requ	26,	896/	
	surement &	□ Requi			casurement		DYES	
	nate sheet:	□ Not re			timate sheet		☐ Not a	
	WO BG.		·		O/WO date:		C) 1402 (4	arioged
Rem	arte: All	works	cor	nelez	ed		******************************	
						•		

-								
Ann	roved by Project Ma	mager	Appro	ved by D	esign Team	App	roved by	MD
App			A)					
Date		JAY.	Date:			Date	-	1400-

Notes: 1. This advice must be sent within 7 days of completing work. 2. This form can be used for certifying labour bills, bills for hire charges, earth work, turnicey civil contractors. 3. Whenever not applicable – fill NA. 4. Estimate and measurement sheets are not required for turnicey jobs where guideline rates are clearly given.

.

Company Name:	MRMLLP					Approved by:	Ramprasad		
Project:	Gulmohar Residen	ncy				Sign:			
Work Description:	Flooring and Bath	room tiles in F-504 flat							
Contractor Name:	Mahendra kumar	Gujjar							
Prepared By	K.Srikanth	V							
Date:	16.07.22								
			A	В	С		E= AxBxCxI	F	
S No.	Item Head	Item Description	Length	Width	Height	Nos	Quantity	Units	
1	F-304 Flat								
	2'x2' flooring	SBUA 1360sft(67%)	911	1.00	1.00	1.00	911.00	Sft	
	2'x2' Skirting	Skirting 18%	245	1.00	1.00	1.00	245.00	Rft	
		(200 sft per toilet)	200	1.00	1.00	2.00	400.00	Sft	
	Kitchen&Utility	(80 sft per flat)	80	1.00	1.00	1.00	80.00	Sft	

.

Company Name:	MRMLLP						
							Ramprasad
Project:	Gulmohar Residen	· ·				Sign:	
Work Description:		room tiles in F-504 flat					
Contractor Name:	Mahendra kumar	Gujjar					
Prepared By	K.Srikanth						
Date:	16.06.22						
S No.	Item Head	Item Description	Quantity	Units	Rate	Amount	
1	Vetrified tiles	SBUA 1360sft(67%)	911.00	Sft	16.00	14576.00	
		Skirting 18%	245.00	Rft	16.00	3920.00	
		(200 sft per toilet)	400.00	Sft	18.00	7200.00	
		(80 sft per flat)	80.00	Sft	15.00	1200.00	
						26,896	
	Amount in word						
	Amount in words:Twenty Six Thousand Eight Hundread Ninety six Rupees on						

Bill for Labour Charges

Mahendra kumar Gujjar mallapur Hyderabad.

Date: 16.07.22

In favor of: MRMLLP

Project / Site: Gulmohar Residency

Location: Mallapur

Type of Work: Tiles Laying at F-Block

Towards: Labour Charges

S No.	Description	Amount
1.	Brief description of work done: Tiles Laying work at F-Block	- Iniount
	flat.no:504	Rs.10,758/-
	Total Amount = $26,896/$ -	10.10,750/-
	Work done from date 10.05.22 to date 10.06.22	

Amount in words: Ten Thousand Seven Hundread Fifty Eight Rupees Only.

Sign

Bill for Equipment Allowance

Mahendra kumar Gujjar mallapur, Hyderabad..

Date: 16.07.22

In favor of: MRMLLP

Project / Site: Gulmohar Residency

Location: Mallapur

Type of Work: Tiles work at F-Block
Towards: Allowance for Equipment

S No.	Description	Amount
1.	Brief description of work done: Tiles work at F-Block flat.no: 504 Total Amount = 26,896/- Work done from date 10.05.22 to date 10.06.22	Rs.10,758 /-

Amount in words: Ten Thousand Seven Hundread Fifty Eight Rupees Only.

sign_ rout

Allowance for Consumables

Mahendra kumar Gujjar, Mallapur, Hyderabad.

Date: 16.07.22

In favor of: MRMLLP

Project / Site: Gulmohar Residency

Location: Mallapur

Type of Work: Tiles work at F-Block

Towards: Allowance for Consumables.

S No.	Description	Amount
1.	Brief description of work done: Tiles laying work at F-Block	
	flat.no:504.	Rs.5,379/-
	Total Amount = 26,896/-	
	Work done from date 10.05.22 to date 10.06.22	

Amount in words:Five Thousand Three Hundread Seventy Nine Rupees Only.

Sign: